AP Calculus BC — Unit 4, Part 2 Required Practice Name:

4.5 day 1 — Required Practice

Evaluate the integral.

#1. J-xZ\/2x3 —3dx #2. J-x3 (l—x“)5 dx

x? 1 1
#3. d #4. |— . [1+—d
J-\/ﬁ * jx2 P



sin x
1+cos™ x

Showing the u-substitution

#7. [3(3x-2) dx

NC—

#6. jsecx tan x+/1+sec x dx

Reverse Chain Rule

#8. [3(3x-2) dx

dx

#10. j

x
V4-x



Showing the u-substitution Reverse Chain Rule

#11. I(sz —3x)4 (4x—-3)dx #12. j(2x2 —3x)4 (4x—-3)dx

#13. jcos(x2 +3x)(6x+9) dx #14. jcos(x2 +3x)(6x+9) dx

#15. Icos(Sx) dx #16. Icos(Sx) dx



Evaluate using u-substitution or Reverse Chain Rule (whichever you prefer)

X

1—x?

#17. [6(1+6x)" dx #s. | dx

#19. J.e*" sec’ (e*") dx #20. J.ln(ez"’1 ) dx



4.5 day 2 - Required Practice

Evaluate the definite integral.

3
#1. J-xxl3x2 -2 dx
1




Evaluate the definite integral.

2
#3. IZxZ\/x3 +1 dx
1




4.6 — Required Practice

1 x+2
#1. j4+x2 dx #2. N dx

1
#3. | 5——=dx
jxz—4x+7



#a. jtan(Zx) dx #5. .[x3 tan(x4) dx

#6. Jl+le* dx




Evaluate the integral.

#7.jx4_3x2dx #s.j XS i

Jx 16—9x>

#9. sz tan(x3 —2) dx #10. j(tanz (3x)+ 1) dx



1
#11. | —— dx _
J-)624r6x+12 #12.Ix2—2x+5

2
e’ +1

#13. I;ﬁ;zt—:;z dx #14. j

dx



4.7 day 1 - Required Practice

Evaluate the integral.

#1. J.e(Sx) dx #2. J.3xex dx

#3. Iln(x) dx #4. jxsin(4x) dx



#5. j2x3 cos(x2 ) dx

#6. J.)c2 sin (x) dx



Evaluate the integral.

#7. Ixex dx #8. jx3 ln(x) dx

#9. J.ln(Sx) dx #10. J.x2 cos(3x) dx



#11. [tIn(t+1) dt



4.7 day 2 - Required Practice

Evaluate the integral.

#1. J.e COS dx



The usual method... The tabular method...
#2. szezx dx #3. sze“ dx

#4. jxée" dx



Evaluate the integral.

#5. Iesx cos(x) dx



#6. szezx dx #7. .[x3 sin(x) dx

x3
#8. | —=dx
J-\/4+x2

a) by integration by parts using u = x’ b) by u-substitution using u = 4 + x*



4.8 — Required Practice

#1. J.sin3 xcos® x dx #2. J.tan2 xsec’ x dx

#3. J.cosx dx #4. J.tanx dx

#5. J.secx dx



#6. jcosz x dx #7. jsinz x dx

#8. jtan“ X dx #9. jcots xsin® x dx



Evaluate:

#10. jsin3 xcos” x dx #11. jsin7 (2x)cos(2x) dx

#12. J.cosz (3x) dx #13. J.6sec(4x)dx



tan’ (x)

3

#16. J.tan3 (2x)dx




4.9 - Required Practice

#1. j\/)cz—

_9dx
X

=
#2., | ——dx
16—x2



Ix3\/x2 +4 dx
#3.

xt -4 I
#4.] .



Evaluate the integral.

. I_Vm—xz
X

dx

[ 2
#6. Ix—_zsdx
X



3
#7. f AN
1+ x*

#8. 16—4x*dx
N



4.10 - Required Practice

3x-5
#1. jz—dx
X +6x-7

X’ =5x+6



X —x+3
e x-2

#a. | : 1 ~dx
(x—5) (x2+x+1)




#6. |

#7. |

3x-5

x*+2x-8

6x—7

x*=3x—4



Evaluate the integral.

#8. Ile_gdx

5+ x
wo. [~
2x°—Tx—-4



2
#10. J.de

X —4x



4.11 - Required Practice



dx

I+
~
—
N
=
L
>
I
'—'w
N
=
L

45 J.cos (x)dx



#6. j xe™* dx



Evaluate the integral or state that it diverges.



o0

#10. J

1

3

%/;



Unit 4 Part 2 Test Review

Evaluate the integral or state that it diverges.

#1. j sin@ do

#2. J-7x3 (3x4 + 6)7 dx

43 J~1+cosxdx
' sin x

#4. J.x sin (Zx) dx

2
5. j€3x dx
1
¢ 1
—
#o. 3 x(In x)2
#7. J.sin3 XCoS X dx

1
#8. jmdx

#9. J- ! dx

Jx* +16
#10. J‘e(mx) dx
#11. J.Scsc2 x dx
#12. [e" dx
#13. [’ sin(x) dx

#14. j—dx
9—(x+ 5)2

j 2 dx
#15.
1x—2



#16. .[2x3 dx

#17. j+ dx
(x—10)° +36

#18. J.secxtanx dx
#19. J.xzex dx

(x2 +3x)

#20. I(4x+6)e dx

5
1
—dx
#21. '([(x—l)%

#23. jsin3 xcos’ x dx
#24. J'zx*1 dx
#25. Isecx dx

#26. J.csc x dx

X
#27. I_V dx
4 x7?

3
X

V16— x?

#29. J.sinz x dx

dx

#28. j

#30. jcosz x dx

1
#31. | ——dx
J‘xz —5x-14

#32. J%dx
x"—=12x+38



1—sin® x

#33. j dx

COS X

#34. jxex dx

#35. jcsc“ xcot® x dx

#36. ]3)(?11'1 (X2 ) dx

3

S€C X

> dx
tan” x+1

#37. J'

#38. J‘7eS)C dx
#39. J'cotx dx

#40. j2x3 cos(xz) dx
o 2
X
[
#42. J‘3sec2 x dx

2t
(1-3)

#43. j dt

#44, J.tanx dx
#45. J.cscxcotx dx
#46. jxln(x) dx

sin x +sec x

#47. j— dx

tan x

#48. J'3x1n(x2) dx
#49, jcosx(1+sin2 x) dx

#50. j(x3 +e* + cos(x)) dx



